9765 Full / Queen Headboard

Assembly Instructions

WI-0622

o Parts List

/—@ t Use 2 People i

Support Bars

Headboard Panel
X2

x1

9 Hardware List

ﬂm @ @ Note: Do not assemble
using power tools. This
M6 x 35mm JCB Spring Washer Flat Washer Allen Key
@ X 10 @ X 10 x10 @ 1 can cause the bolts to
be overtighted.

=

e ———
—
P =~

Assemble the Support Bars (B) : e N
to the Headboard Panel. : ,\/ Bed frameto be
: \

bought separately /’
/

4 N

ZZ*“”@\
o .
o

- J

@) Assemble the Headboard Panel (A)

to the Support Bars (B).
O

-~ .

M\“\'\
|

Wi

7

@,
?
A A

Page 1 of 1




Queen Bed

Assembly Instructions

0818

o Assembled View

Use 2 People

Note: Do not assemble
using power tools.
This can cause the bolts

to be overtightened

9 Parts List Extra Hole\l i
(e . —3) /
Headboard Panel x 1 @ @ @

Support Leg Post Support Panel
. x3 X4 x4

Footboard Panel x 1

~

\—©SideRaiIx2
\—@LongSupportx1 HERQARRRRRR RN RARN R R R N A
\—®Setof Bed Slats x 1

9 Hardware List

ﬂ T ﬂ:nmmmmmmm: ﬂjmﬂmmmmmb ﬂmmmmm
(1) M6x80mm JCB (2) M6 x50mm JCB (3) MBx40mmJCB  (4) M6x20mm JCB
x3 x16 x18 x8

(o (o @ (o)
@ M6 x 15mm JCB @ M8 x 50mm JCB @ Barrel Nut 9 Spring Washer @ Flat Washer
x3

@ Wood Screw @ M4 Allen Key M5 Allen Key
(M4 x 32mm) x 18 x1

i Adjustable
x1 Bracket x 2 Foot x 3

Page 1 of 5




Queen Bed

Assembly Instructions

0818

Q Assembled the Support Leg (E)
to the Long Support (D).

Note: Extra holes
on top

Page 2 of 5




Queen Bed

Assembly Instructions

0818

@ Fit the Center Rail Bracket to the
Headboard Panel (A).

Short Tab of
Metal Bracket (13)

0 Fit the Center Rail Bracket to the
Footboard Panel (B).

@ Bolt the assembled Support Panel (G)
to the Side Rail (C).

Page 3 of 5




Queen Bed

Assembly Instructions

Q Assemble the Side Rail (C) to the
Headboard and Footboard Panel (A & B).

@ Bolt the assembled Support Panel (G) to the
Headboard and Footboard Panel (A & B).

Page 4 of 5




Queen Bed

Assembly Instructions

m Bolt the Long Support (D) to the Center Rail 4
Brackets (13) on the Headboard and =
Footboard Panel (A & B). /\E

@%{ ——
7] K@ A f \
24 N .

] I [T
@~ ] [1 10 [@
15— EaCa— ’ lig .
@0 i [1 gL

— .

Page 5 of 5




9765 King Headboard

Assembly Instructions

WI-0622

o Parts List -
AR [ J
4 (A | Use 2 People

Headboard Panel Support Bars

X1 X2
9 Hardware List
Note: Do not assemble
using power tools. This
ﬂm @ can cause the bolts to
be overtightened
M6 X 35mm JCB @ Spring Washer @ Flat Washer @Auen Key g
x10 x10 x10 x1

o —————
— ~
- ~

Ve

7
// ‘/ Bed frame to be \\
'\\ bought separately /’
\.

‘ \\\ ///
P -
B /
: -(B) 7,
/

0 Assemble the Support Bars (B)
to the Headboard Panel.

Z:”@\<

oI

- J

\z’//

Q Assemble the Headboard Panel (A)
to the Support Bars (B).

o]

o fls] &

—
G 0
G,

P
\ &
N\, @

C\ N

Page 1 of 1




